
6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3.�=PDM�$OSDPP���7X]OD �������������������6WUDQLFD��

7UHELQMH��/MHWQR�SUYHQVWYR�%L+�]D�0..�033�����
7UHELQMH�����������������

'LVFLSOLQD��� 'HYRMþLFH����[���P�6ORERGQR�)UHH ���JRGLQD�L�PODÿL
������������������ 5H]XOWDWL
1H]YDQLþQL�UHNRUG�%L+����� ������� äHOMH]DUD��=HQLFD��3HãLü�6�����âLãLü�(�����âLãLü�8�����$KPHWVSDKLü�/����==( 7UHELQMH��%L+� ����
1H]YDQLþQL�UHNRUG�%L+����� ������� 6/78��+DVDQGåLNRYLü�'å�����7XQMLü�0�����0DWLþHYLü�6�����2VPDQEHJRYLü�/����6/78 6DUDMHYR��%L+� ����
%RGRYD��),1$�����

5DQJ 9UHPH%RGRYD

�� 9HOHå�02�0.�03�ä� 9HOHå��02 ������� ���
0$5,û�$GLOD��7,52�0DQMD��72.0$ý,-$�0DWHD��0$+,1,û�$QLGD

�� /HRWDU�7%�0.�03�ä� /HRWDU��75 ������� ���
32329,û�$QD��%2%,û�$QÿHOD��6/$9,û�$QÿHOD��ý8ý.29,û�$QÿHOD

�� %RVQD�6$�0.�03�ä�� %RVQD��6$ ������� ���
3$â8.$1�(PLQD��â80$1�+DQD��=2521-,û�$MOD��%$â29,û�'åHQDQD

�� ����$SULO�%/�0.�03�ä� ���DSULO��%/ ������� ���
72'2529,û�$QGUHD��0,='5$.�,YDQD��6/,-(3ý(9,û�6DUD��ý(35.$/2�-RYDQD

�� *.96�6$�0.�03�ä� *.96�6DU���6$ ������� ���
0('2â(9,û�/DPLMD��$/,0$129,û�+DQD��./$5,û�6DUD��9/$'$9,û�$PQD

�� 6DUDMHYR�6$�0.�03�ä�� 6DUDMHYR��6$ ������� ���
,'26.,�$QHVD��0(0,-$�'DOLOOD��+27,�'åHQDQD��'ä8+2�$OGLMDQD

�� 0ODGRVW�%/�0.�03�ä� 0ODGRVW��%/ ������� ���
./,1',û�$ULDQD��.267,û�6RILMD��û8.29,û�-HOHQD��581,û�7DPDUD

�� 6SRUW�7LPH�6$�0.�03�ä� 6SRUW�7LPH��6$ ������� ���
+86,û�7DULQ��+2'ä,û�(QD��0$*/,û�.DPUD�$PLQD��+$'ä29,û�(PD

�� 2O\PS�%/�0.�03�ä� 2O\PS��%/ ������� ��
75,981�$QÿHOD��0(',û�9DQMD��75,9,û�(OHQD��723,û�$QDVWDVLMD

'LVFLSOLQD��� 'HYRMþLFH����[���P�6ORERGQR�)UHH .DGHWNLQMH�3LRQLUNH
������������������ 5H]XOWDWL
1H]YDQLþQL�UHNRUG�%L+ ������� 6/78��+DVDQGåLNRYLü�'å�����7XQMLü�0�����0DWLþHYLü�6�����2VPDQEHJRYLü�/����6/78 6DUDMHYR��%L+� ����
%RGRYD��),1$�����

5DQJ 9UHPH%RGRYD

�� 6ORERGD�78�.�3�ä� 6ORERGD��78 ������� ���



�1H]YDQLþQL�UHNRUG�%L+�




+$6$1'ä,.29,û�'åHQDQD��0$7,ý(9,û�6WHOD��781-,û�0DWHD��260$1%(*29,û�/HMOD

�� ����$SULO�%/�.�3�ä� ���DSULO��%/ ������� ���
78%,û�1LNROLQD��/8.,û�7DPDUD��'2',.�.DWDULQD��5$ý,û�$QÿHOD

�� *.96�6$�.�3�ä�� *.96�6DU���6$ ������� ���
68/-(9,û�1HMUD��0(+,û�$GHOD��'$&,û�/DPLMD��(0â2�,PDQ

�� %RVQD�6$�.�3�ä�� %RVQD��6$ ������� ���
%26$1.,û�1HMUD��.8ý�0DMGD��%52'29,û�1DUGD��*2/2â�6HOPD

�� /HRWDU�7%�.�3�ä� /HRWDU��75 ������� ���
0,5',1-$�1LNROLQD��$1Ĉ(/,û�0DULQD��7(/(%$.�-RYDQD��ý8ý.29,û�$QD

�� 9HOHå�02�.�3�ä� 9HOHå��02 ������� ���
.$1',û�-HOHQD��/-(3$9$�.DWMD��0$+,1,û�$PLOD��'(59,â.$',û�(QLVD

�� 2O\PS�%/�.�3�ä� 2O\PS��%/ ������� ���
6$0$&�6WDãD��â2%27�,YDQD��-2.$129,û�0DMD��0(',û�-RYDQD

�� =HQLFD�=(�.�3�ä� =HQLFD��=( ������� ���
=/275*�$GQD��%(.7$â�1HMUD��+$ý,0,û�$PUD��â,â,û�(PD

9DQ�.RQN� *.96�6$�.�3�ä�� *.96�6DU���6$ ������� ���
$+0(763$+,û�1HJUD��.$5,û�7LD��â95$.$�+HQD��529ý$1,1�$PLQD

9DQ�.RQN� %RVQD�6$�.�3�ä�� %RVQD��6$ ������� ���
60$-.$1�$GQD��+$'ä,û�/HMOD��â$ý,û�1HMUD��'(59,â()(1',û�(QD



6SODVK�0HHW�0DQDJHU�����%XLOG����� 5HJLVWHUHG�WR�3.�=PDM�$OSDPP���7X]OD �������������������6WUDQLFD��

7UHELQMH��/MHWQR�SUYHQVWYR�%L+�]D�0..�033�����
7UHELQMH�����������������

'LVFLSOLQD�����'HYRMþLFH����[���P�6ORERGQR�)UHH

5DQJ 9UHPH%RGRYD

9DQ�.RQN� %RVQD�6$�0.�03�ä�� %RVQD��6$ ������� ���
%2529$&�$GQD��),/(.29,û�6DUD��%2-ý,û�$LGD��0(â,û�+HQD

9DQ�.RQN� 6DUDMHYR�6$�0.�03�ä�� 6DUDMHYR��6$ ������� ��
â8â$�$GQD��0$5,û�0DUWD��$.â$0,-$�$PQD��%(â29,û�$MOD


